Class - 6 Ch - 6 Exercise - 6.5



Question 1.
Work out the following :
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Question 2.
Find in the missing fractions:
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i) C *5' = E
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Let the missing number be x,
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Question 3.
Work out the following:
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Solution:
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03+3 (L.CM.of 3and 4 = 12)
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(ii) 7 9 (L.CM.of 7and 9 = 63)
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Question 4.
Simplify the following:
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13 5 6
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(v) | Y 5 - 7 (L.C.M. of 14,6,7=42)
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(i) 2.2 - 3g-3 + 23

(L.CM. of 14,6,5,2 = 210)
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465-805-84+525  990-889 101
210 210 210
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Question 5.

3
(i) What number should be added to 13 to get 257

(i) What number should be subtracted from 5 to get

D
113?

Solution:
(i) Let the number to be added = x
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(ii) Let the number to be subtracted = x
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